Manuals+ — User Manuals Simplified.

PANDUIT NETRUNNER Vertical Cable Manager Installation
Guide

Home » PANDUIT » PANDUIT NETRUNNER Vertical Cable Manager Installation Guide ™=

IPANDUIT

NETRUNNER Vertical Cable Managers
© Panduit Corp. 2024
INSTALLATION INSTRUCTIONS
VO0030AE_07

Contents

1 PART NUMBERS

2 Bracket Installation

3 Wire Retainer

Installation

4 Documents / Resources
4.1 References

PART NUMBERS
Table 1
VERTICAL CABLE MANAGE | Mounting Kits (sold
Racks
MENT separately)
Front/Rear
WMPV22E WMPVCBE
WMPV45E WMPVHC45E (Center Mount) ' . R2P Series of Racks
Front Only (Standard mounting for Panduit 2 RAP Series of Racks
WMPVF22E and 4 post racks racks. One kit In
WMPVF45E W cluded.)
MPVHCF45E



https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/panduit
https://manuals.plus/panduit/netrunner-vertical-cable-manager-manual.pdf
https://manuals.plus/#part_numbers
https://manuals.plus/#bracket_installation
https://manuals.plus/#wire_retainer_installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Location Guide for Center Mounting
(R2P with WMPVCBE)
Dimensions in () parenthesis are for 6” Vertical Cable Management

1 .25 5.00
 — R ¥ e |
. 20.25 2750 - 20.25
1.507 |
) o o o [ q f
v o o o o o .
& o] o o ‘
I 1 ! 1
12,50 3,90 & -
4.*?5 9 9 ° ?
l i o o o ) S
© 9 K W &
2.12 rs.oo—--—[ﬁ-%‘ﬁm—.-—ls.oo—h-ml—z.m

Bracket Installation

Note:
For additional brackets when installing between two racks use part number WMPVCBE. Bracket is keyed to be
installed in the correct orientation.

Standard Rack Installation

Note:
Arrows and flags @
| must point upward

#12-24 Screws

N [l |
y i
I
[ TR W
| [ B
Rear Bottom Mounting
Location

®

#12-24 Screws

e L
Bottom Mounting Location Location Fin(S/ Top Mounting Location

Installation Instructions R2PS using WMPVSMK side mounting kit
Note: Mount the racks to the floor (with the appropriate space between racks indicated in Table 2.)
Table 2



Part Number Space

WMPV22E
WMPV45E -
WMPVF22E *

WMPVF45E *

WMPVHC45E 5.75"
WMPVHCF45E * '

* FOR USE WITH R2P6S
o

3/8 Bolt, Lock
Washer & Nut
Location pin(s)

3/8 Bolt, Lock
Washer & Nut

Installation Instructions Required mounting for R2P6S using WMPVSMK side mounting kit
Note: Mount the racks to the floor (with the appropriate space between racks indicated in Table 2.)

®

3/8 Bolt, Lock
Washer & Nut

Location pin(s)

3/8 Bolt, Lock
Washer & Nut

Installing Front Only Managers for Front and Back cable management.

Use a front only manager for additional cable management on the back of the rack (see Table 2 for all compatible
managers for this rack)



Front Only
Manager

Front Only
Manager

Installation Instructions R4P using WMPVSMK side mounting kit
Note: Mount the racks to the floor (with the appropriate space between racks indicated in Table 2.)

© =S

3/8 Bolt, Lock
Washer & Nut

Location pin(s)

3/8 Bolt, Lock
Washer & Nut

Opening Closing Removal
Wire Retainer Installation

(WR5E) SOLD SEPERATELY



Use thumb to release
wire retainer for removal

IPANDUIT

For instructions in Local Languages
and Technical Support:
www.panduit.com
E-mail:
techsupport@panduit.com
Fax:

(866)405-6654

www.panduit.com
FOR TECHNICAL SUPPORT www.panduit.com

Documents / Resources

PANDUIT NETRUNNER Vertical Cable Manager [pdf] Installation Guide

WMPV22E, WMPVF22E, WMPV45E, WMPVF45E, WMPVHC45E, WMPVHCF45E, VOOO30AE-
07, NETRUNNER Vertical Cable Manager, NETRUNNER, Vertical Cable Manager, Cable Mana
ger, Manager

References

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://www.panduit.com
mailto:techsupport@panduit.com
http://www.panduit.com
http://www.panduit.com
https://manuals.plus/m/606afae68237b46c8372b2822498ff1910ab945730f2c378305b9ffcbf795ca1
https://manuals.plus/m/606afae68237b46c8372b2822498ff1910ab945730f2c378305b9ffcbf795ca1_optim.pdf
https://manual.tools/?p=12854323#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	PANDUIT NETRUNNER Vertical Cable Manager Installation Guide
	PART NUMBERS
	Bracket Installation
	Wire Retainer Installation
	Documents / Resources
	References



